+ Bx+4) =3x2 +2x+ C A A,B,C 9] 3=

® A=2B=-1,C=3 ® A=4,B=-1,C=5

® A=4,B=-5C=-5 @® A=2B=5,C=3

(@)A:Q,B:—5,C:—3
B ~

(Ax> =3x+1) = (-=x> +Bx+4) =32+ 2x+ C
Ax? —3x+14+x>—Bx—-4=3x>+2x+C
Ax? +x?-3x—Bx+1-4=3x>+2x+C
A+1=3 ~A=2

-3-B=2 .. B=-5

1-4=C ..C=-3




2. x=2,y=-3% 1, 2x+5y-(3y-3x) & AtsHH?

® -8 @ -4 @1 @ 2 ®)4

(FA) =5x+2y=5x2+2x(-3)=4




3 _
§x2 —4x+ x* - 5% = ax? + bx A a+ b 2] FF& FolH?

@2 @1 20

@1 ® 2
§Jc2—4)c—f—)c2—§ —5+2x2+_8_3x
2 2 2 2
_ T2 LI
—9Y T
7 11
:—’b:——
) 2




4. s Ae AANE o, x o] ATt 7P 2 A7

@ (3x+1)? @ (3x-1)?
® (Bx—1)(x-3) @) (3x+1)(x +3)
® (Bx+1)(3x-1)

B

@2 ZAsHE x of A7t + 6

@ AAsHE x o A%7F -6

@2 A3t x o A7t -10

@& A5k x o A57t +10

O At x o A7t 0

o=tA x o] A7t 7HE 2 A2 @Rolth




5. (2x2-3x-5)-3(x*-x+4)=Ax’+Bx+C ¢ W, A+B-C ¢
= ool

> E.

> Hehl 16

S5 ~
(2x? —=3x—5) = 3(x> —x+4)

=2x2—3x-5-3x+3x—12

=—x-17

=Ax>+Bx+C

L A+B-C=-14+0+17=16




1 _
192+ B 5 & ul, A%+ 957 9] & 75

® 1 @ 3 ®)s
2 2
2 A
) - ): 2 - CAx+ —
X XXX -+ X 3x—|—9




3 2
D —x2 - 6xy + -y?

3 7y
7.2 12 =32
® :%x +2 xy+3y
2 _ 2.2
©) SR

7H5}HE?

3, 2,
® gx 32xy—§y
Q92 , %9

@ 5% —|—3y




8. (a+b+c)*S ZNotaA?

@ a2+b2+c2

@ a®+b>2+c?+ab+bc+ca
® a+b*+ct+a+b+c
@ a®+b>+c?+2a+2b+2c

(@)a2 + b2 + % 4 2ab + 2bc + 2ca

~&B

a+b =1tz otH
(a+b+c)?=(t+c)?
=12 4+ 2ct + 2

= (a+b)? +2c(a+b) + c?

= a® + 2ab + b% + 2ca + 2bc + 2
=a® + b? + ¢ + 2ab + 2bc + 2ca




~2 L, 3 +b) - (dab? — 6a®b) + (~2ab) | T2

(FA) =3a+3b+2b—3a=5b=-1




10. o3 17} Zol 2o 7t 9] o7t 3a , A= 2] Ao]7} 24 <
2] HA| o] Hul7} 1843 — 15a%b B Sttt a = 6, b = 4 & U,
_\—,—_ ]E 0}013]'.

~-3a--

1) = (ZHol) x (=°I)
1)) = 184 - 15a%b
Hol) = 3a x 2a = 64>
18a® — 15a%b = 6a® x h

18a3 — 15a%b 5
= T = —_ —b
h a2 3a 5
5
h=3a--=b
473

3x6—gx4:18—10=8
L h=8




